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04-12 07:11AM 49.296

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:11AM 49.296

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545203179 current=0.0 display=0.0

04-12 07:11AM 49.298

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

3: id=1239545203179 current=0.0 display=0.0

04-12 07:11AM 49.299

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 3: 

id=1239545203179 current=3.0 display=3.0

04-12 07:11AM 49.299

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545203179 display=3.0)

W

W

04-12 07:11AM 48.739

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:11AM 48.739

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545203179 current=0.0 display=0.0
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W

W

W

04-12 07:11AM 48.740

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

3: id=1239545203179 current=0.0 display=0.0

04-12 07:11AM 48.742

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 3: 

id=1239545203179 current=2.0 display=2.0

04-12 07:11AM 48.742

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545203179 display=2.0)

W

W

W

W

W

04-12 07:11AM 47.794

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:11AM 47.794

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545203179 current=0.0 display=0.0

04-12 07:11AM 47.795

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

3: id=1239545203179 current=0.0 display=0.0

04-12 07:11AM 47.796

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 3: 

id=1239545203179 current=1.0 display=1.0

04-12 07:11AM 47.796

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545203179 display=1.0)

W 04-12 07:09AM 14.929

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null
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W 04-12 07:09AM 14.929

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

W

W

W

04-12 07:09AM 14.172

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 14.172

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 14.173

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

3: id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 14.175

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 3: 

id=1239545347651 current=2.0 display=2.0

04-12 07:09AM 14.175

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545347651 display=2.0)

W

W

W

04-12 07:09AM 12.813

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 12.814

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 12.815

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

3: id=1239545347651 current=0.0 display=0.0
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W

W

04-12 07:09AM 12.821

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 3: 

id=1239545347651 current=1.0 display=1.0

04-12 07:09AM 12.821

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545347651 display=1.0)

W

W

04-12 07:09AM 11.279

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 11.279

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

04-12 07:09AM 10.822

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 10.822

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

04-12 07:09AM 10.355

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 10.355

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W 04-12 07:09AM 10.116

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null
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W

W

W

W

W

W

W

W

04-12 07:09AM 10.116

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.121

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

2: id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.178

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 2: 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.178

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545347651 display=0.0)

04-12 07:09AM 10.191

[tkgaetest/2.332737822753117706].<stderr>: Starting to serialize 

Calc id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.191

[tkgaetest/2.332737822753117706].<stderr>: Done serializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.262

[tkgaetest/2.332737822753117706].<stderr>: Starting to serialize 

Calc id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 10.262

[tkgaetest/2.332737822753117706].<stderr>: Done serializing Calc 

id=1239545347651 current=0.0 display=0.0

W 04-12 07:09AM 09.032

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null
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W 04-12 07:09AM 09.032

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

04-12 07:09AM 08.695

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 08.695

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

04-12 07:09AM 08.628

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 08.628

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

W

W

W

W

04-12 07:09AM 08.367

[tkgaetest/2.332737822753117706].<stderr>: Starting to deserialize 

Calc id=0 current=0.0 display=null

04-12 07:09AM 08.367

[tkgaetest/2.332737822753117706].<stderr>: Done deserializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 08.370

[tkgaetest/2.332737822753117706].<stderr>: 

=================================================================

IT Mill Toolkit is running in DEBUG MODE.

Add productionMode=true to web.xml to disable debug features.

To show debug window, add ?debug to your application URL.

=================================================================

04-12 07:09AM 08.370
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[tkgaetest/2.332737822753117706].<stderr>: 

W

W

W

W

W

W

W

W

04-12 07:09AM 07.141

[tkgaetest/2.332737822753117706].<stderr>: 

=================================================================

IT Mill Toolkit is running in DEBUG MODE.

Add productionMode=true to web.xml to disable debug features.

To show debug window, add ?debug to your application URL.

=================================================================

04-12 07:09AM 07.146

[tkgaetest/2.332737822753117706].<stderr>: 

04-12 07:09AM 07.786

[tkgaetest/2.332737822753117706].<stderr>: Calc: Start transaction 

1: id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 07.867

[tkgaetest/2.332737822753117706].<stderr>: Calc: End transaction 1: 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 07.867

[tkgaetest/2.332737822753117706].<stderr>: Apps: class 

com.itmill.toolkit.demo.Calc(id=1239545347651 display=0.0)

04-12 07:09AM 07.992

[tkgaetest/2.332737822753117706].<stderr>: Starting to serialize 

Calc id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 07.992

[tkgaetest/2.332737822753117706].<stderr>: Done serializing Calc 

id=1239545347651 current=0.0 display=0.0

04-12 07:09AM 08.071

[tkgaetest/2.332737822753117706].<stderr>: Starting to serialize 

Calc id=1239545347651 current=0.0 display=0.0
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 1-15 

W 04-12 07:09AM 08.072

[tkgaetest/2.332737822753117706].<stderr>: Done serializing Calc 

id=1239545347651 current=0.0 display=0.0

Legend: D Debug (least severe) I Info W Warning E Error C Critical (most severe)
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